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1. The third term of the Maclaurin series representation for f(x) = tan z is 1—5x5

In(z4+y+1)

— is {(z,y):y#r,2+y+1>02,y€R}

2. The domain of g(z,y) =

2 a 2
3. If f(z,y) = " Y + ay® + 2 + 97, thena—f = (2zy)e" YV +y*+1
T

4. 1f f(z,y) = 2*y + €™ + 1, then f,, = 2z + €™ + zye™?

Tty of
5.1 f(x,y) = / cost dt, then i cos(z +y) —cosx
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10.

. Show that lim

. Show that lim

o
. Find the sum of the series Z nx", x| < 1.

n=1

Find the Taylor polynomial P3(z) of degree 3 for f(z) = /T atc = 1.

Find the Maclaurin polynomial P () for f(x) = e” sin .

. Find and sketch the domain of f(x,y) = \/y? — =.

Sketch the graph of f(x,y) = x° + 4y, (F & % 1 B2))

ZC2 -
(%y)_)(()’()) :CQ i y2 CX1St.

ry )
o O)W does not exist.
Y ) Yy

Let f(x,y) = 4e™ 1 — 222 — 4/, Find the slope of the tangent line at the point (1, 1, 1) on the
curve

formed by the intersection of the surface z = f(x, y) and the plane y = 1.

. Verify that f,,, = fy. if f(z,y) = x cos xy>.

Suppose 2 is a differentiable function of  and ¥ that is defined implicitly by 2 —I—y3 +24+2yz 2 =5

m 83; an ay
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8.7 — ¥ 4% 20(a)

n=1
2 | P2)=1+=(z—1)—=(z—1)>+ —=(z —1)3 13.5 — 4 2(a)"
3 | Bx)=z+z 135— ¥ %6
4 | D:{(x,y) € B :y*— x>0} 13.6 — /3L 3
5 | % 13.6 — 42 5
6 | 13.7 — &]4E 4"
7| % 13.7 — 48 2
af
8 | =£(1,1) = 13.7 — )48 3*
5 (b 1) R
9 | 13.3 — &]4g 2*
o | 92 13.6 — &]%E 7*
ox
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